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(2) 4205/(Set : A)

° FYF J9T FH FAY [0GT J@ BT H e, JoT B HHE
7T 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FUT-YRawr ® & § @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAGRTT #HF o de T Al o
SFEATAR & [rd ST fi@r Fae 7 #e
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o ghEreff 1o T Fo HIT-GH UT GaST @)
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° ZYF 49 # F¥ &7 @ qd 9E GrvEad &Y o [ JeT-a
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@B TE 14T A7

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : A)
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(3) 4205/(Set : A)
G & -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS 797 % el [Aweq ford)
Write the correct option in objective type
questions.

(iii) & FTT I g F SRS [AH T HTET 8

Internal choice has 'been provided in long
answer type questions.

(iv) FEE 797 % 3% 3T THT G519 7 8l

Marks of each question are indicated against it.

gus —
SECTION - A [ Marks : 20
(¥feren fomTr)
(Physics)
1. STHI B T AT e &, T & 1
(A) EET |
(B) IO €
(C) fagger &
(D) oTYeaH &
4205/(Set : A) P.T.O.

Previous Pathshala




(4) 4205/(Set : A)
The blue colour of sky is due to :
(A) Reflection of light
(B) Scattering of light
(C) Dispersion of light
(D) Refraction of light
2. frfafad & @ @ SEdEn o1 G @ 38Rl T8
T ? 1
(A) TR
(B) Max e
(C)  TEhIg. It
(D) el

Which of the following is not an example of a

biomass energy source ?
(A) Wood

(B) Gobar gas

(C) Nuclear energy

(D) Coal
4205/(Set : A)

Previous Pathshala




(5) 4205/(Set : A)
3. APMA dE e | A T H Al R e 7 1

What type/nature of image is formed by the eye

lens at retina ?

4, TS AR HB AR 5T BRA W AR @ 2?1

On what factors the resistance of conductor

depends ?

5. Sl a9 @ 7 evar € 2 989 § aue it 2

What are the disadvantages of fossil® fuel ?

Explain in brief.

6. 2Q,3Q,T 6 QF N JAULH B [T YBR dAoT
HUI [ HISH H1-H J)g 4 Q8 7 2

How can three resistors of resistance 2 Q, 3 Q,
and 6 Q be connected to give a total resistance

of 4Q7

7. A % A9 T G@IT & 1 e & 7 2

What are the advantages of water stored in the

ground ?

4205/(Set : A) P.T.O.
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(6) 4205/(Set : A)

8. (a) "W dg ¥ 1.50 MUGcHi® & B H e A
YA Al B BE F U B oG o T 7
fata & ueIeT @ T 3 x 108 ms™! Bl 2

Light enters from air to glass having
refractive index 1.50. What is the speed of
light in glass ? The speed of light in vacuum

is 3x 108 ms™L.

(b) FE T I A9 & Y& HiHd (F) TN 2 F & 9
Rer &1 39 agg & Sfifee & Rl aEs q@m S
C LGl CERERIEY 2

An object is situated at a position in
between the main focus (F).and 2 F of a
Convex'lens. Draw the ray diagram showing
the position, size and mnature of image

formed.

9. TMilhe RW TihY [l faEd o &1 g0 st
qur FrEf we i e g A FEI T ! 6
Explain the underlying principle and working of

an electric generator by drawing a labelled

diagram. What is the function of brushes ?

4205/(Set : A)

Previous Pathshala




(7) 4205/(Set : A)
g
OR

(@) AT & amH-g% oE | g 7 guEst 2

What is the Fleming's Left-Hand Rule ?
Explain.

(b) g FEHE I | SR FAT SR & P AS
4 URA g a7 @ R 79 &E H wHT &
feroT-aed e T A S9N § 7 aHeEEy 4

What do you mean by electromagnetic
induction ? Explain the use of Fleming's
right-hand rule in finding the direction of

current induced in'the conductor.

gis - §
SECTION - B [ Marks : 19
(v fomm)
(Chemistry)

10. =1 vaEfe s & fF-a1 ofeRe Swid &
w2 ? 1
CuO + Hy — Cu+ H,0

4205/(Set : A) P.T.O.

Previous Pathshala




(8) 4205/(Set : A)

Which reactant is Oxidized in the following
chemical reaction ?

CuO + Hy — Cu+ H,0

11. 9% O o e A, B @@ C &, RFe pH &1 99
HAM: 4, 7 Td 10 31 I H ¥ HH-A1 faome T=ig
BT 7 1

You have three solutions A, B and C whose pH
value is 4, 7 and 10 respectively. Out of above

solutions, which solution is acidic?

12, G M, MCl g3 /el T &iXEs) S8 (- Sad . qRen
U g8 o M- e aHe & Fic-en P 1

A)  Si (B) | Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCI.
Element M would be most likely in the same

group of Periodic table as :
(A) Si (B) Al
(C) Na (D) Mg

4205/(Set : A)

Previous Pathshala




(9) 4205/(Set : A)

13. faeemg orfuframell @ oy o 9E@ € ? 0% SEe
(Tt BT SR 2

What do you mean by displacement reactions ?

Give one example (Chemical equation).

14. ST AS1 B TEEMNEG G R 5 ¢ 3EH i Ry @
TR FHIEHT i) 2

What is chemical formula of baking soda ? Give

chemical equation used in its preparation.

15. gfh A RO H, q98 " SW. § S W W
QAT |59 fRE THR GREfid el & 2R [ 2

In modern periodic table how does atomic size
vary on moving down top to bottom in a group ?

Write its reason:

16. (i) oGl & ag & &1 & A F|1 oA ! TF
3aE iUy 2

What happens when metals are burnt in

air ? Give one example.

4205/(Set : A) P.T.O.
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(10) 4205/(Set : A)
(i) ergell & fEgd oged URwRel W R e

ferfem 2
Write short note on electrolytic refining of
metals.

17. () frefared Al F 6T Hi : 1x3=3
(@ CH3-Cl

o)
(b) CH;-CH, —H—OH
() CHz~-CH,-CH,~OH
Write the names of following compounds :
(@ CHz-Cl
o)
(b) CHs-—CH, —|C|—OH
() /CHsz -CH, -CH, —-OH

(i) UIHTEH oF T | 9 U STfhar e © 7

TS THIHT R ¢ 1x3=3
() Na,COj
(b) NaOH

(c) CHZCH,OH 3% &% Jureefa |

4205/(Set : A)

Previous Pathshala




(1) 4205/(Set : A)

How ethanoic acid react with the following ?

Give chemical equation :

(@) Na,COs

(b) NaOH

(c) CH3CH,OH in presence of acid

AYAT
OR

e AREH & g IO B SeR died avie

WZ 2x3=6
(i)  SiferteRRoT. 3TfHTshaT
(i) Epa. Srf¥isea

(iif) SfcreaTOs SAf¥ishan

Explain the following Properties of Carbon
compounds with example :

(i) Oxidation reaction

(i) Addition reaction

(iii) Substitution reaction

4205/(Set : A) P.T.O.
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(12) 4205/(Set : A)
s -9
SECTION -C [ Marks : 21
(cftr o)

(Life Science)

18. Fr=ifaifed & & HI9-61 daw oig el w@rl &
qE 7 1
(A) e, =S, T
(B) W, WIREH, b Bab
(C) whel, HIE, &l - {Bcih
(D) =l Fid, F b (B

Which of the following is @ group of only

biodegradable substances ?

(A) Plastic, Leather, Wood

(B) Grass, Plastic, Banana Peel
(C) Wood, Grass, Banana Peel

(D) Leather, Glass, Banana Peel

4205/(Set : A)

Previous Pathshala




(13) 4205/(Set : A)

19. WEFEH & deiie H oK Jha &M T/RET & 1

The growth of pollen tube towards ovule is an

example of :
(A) Geotropism
(B) Chemotropism
(C) Phototropism
(D) Hydrotropism
20. N T G H -9 @Rl § & B s @
T e[ & 7 1

Name the solar radiation from which the surface

of earth is shielded by ozone layer.

4205/(Set : A) P.T.O.

Previous Pathshala




21.

22.

23.

24.

25.

(14) 4205/(Set : A)
arier § U Sfig 999 @ gfshar @ @ AW R ? 1

What is the name of the process of formation of

new individual in Amoeba ?

g S fad & arel A B Fr Am R A

What is the name of the gland secreting
adrenaline hormone ?

g | guT & FBE R 7 2
What is function of testis in-man ?

Ui Td il g T 8l 8 7 SEER© a2

What are unisexual and bisexual flowers ? Give

examples.

UHe HRASh H AgAl 99T SFYARGS SR T S A
P o 2

What is the function of medulla and cerebellum

in human brain ?

4205/(Set : A)
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(15) 4205/(Set : A)

26. T SMHR & &9 (FMEl T&oT) H FUar el (ST
TAEOT) % T BT HRAET T 4
Rounded seeds (dominant trait) were crossed
with wrinkled seeds (recessive trait).

(i) 999 Haid & siel B ST F1 BRM °
What type of seeds will be produced in F,
generation ?

(i) fad@ dafq & =T SR 9T fhas gt i
AR B ?
By  self-pollination .in | F; . seeds, what
percentage of seeds will be rounded shape
in F, generation ?

el \ied e il

Explain with diagram.

27. MG IS oo H AR BE S, g S @
gfshaT 1 a9 i 6
Draw a well labelled diagram of excretory system
and explain the process of urine formation in
human being.

4205/(Set : A) P.T.O.
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(16) 4205/(Set

AYAT
OR

Tedl ¥ IS H aUH BT

Describe excretion in plants.

4205/(Set : A)
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4205/(Set : B) P.T.O.
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(2) 4205/(Set : B)

° FYF J9T FH FAY [0GT J@ BT H e, JoT B HHE
7T 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FUT-YRawr ® & § @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAGRTT FHF o de T A o
SFEATAR & [rd ST fi@r Fae 7 #e

Except answer-book, -no extra sheet will be given.
Write to the point and do not Strike-the written

answer.,

o ghEreff 1o T Fo HIT-GH UT GaST @)

Candidates must write their Roll Number on. the

question paper.

° ZYF 49 # F¥ &7 @ qd 9E GrvEad &Y o [ JeT-a
g7 7 @& & ghEr ® S 54 a9 § #HE A a@r
@B TEl 14T A

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : B)

Previous Pathshala




(3) 4205/(Set : B)

G 3T -

General Instructions :

(i) & 77 oA &1
All questions are compulsory.

(ii) TGS 797 % el [Aweq ford)
Write the correct option in objective type
questions.

(iii) & FTT T gT F ARG [AH BT HTET 8

Internal choice has been provided in long

answer type questions.

(iv) FAF F97 B 31F 3% A7 G909 T 81

Marks of each question are indicated against it.

JCRCRES |

SECTION - A [ Marks : 20

(A fam)

(Physics)

1. QO & a9 g4 & 31 A e s 4 REE @

g7 1
(A) S (B) faerqer
(C) 3T (D) YrEas

4205/(Set : B) P.T.O.

Previous Pathshala




(4) 4205/(Set : B)
Colour of the sun at sunrise is red due to :
(A) Scattering (B) Dispersion

(C) Refraction (D) Reflection

2. /=1 & § R SqumEn FHoit WNd H IS FGE P A

(A) B

(B) R ™
(C) higell

(D) DT, St

Which of the following is not an example of bio-

mass energy source ?

(A) Wood
(B) Gobar gas
(C) Coal

(D) Nuclear energy

3. RGN H1 F1 FF 8 7 1

What is the function of iris ?

4205/(Set : B)

Previous Pathshala




(5) 4205/(Set : B)
4. TG a® & Sy 5 e W AR aar g 2 1

On what factors does the resistance of conductor

depends ?

5. Tl % ofEsl °fid H @ YT BN © ¢ 2

What are the properties of a good source of

energy ?

6. H13 fgd AMeX-220 V. & [gd Hid §.5.0 A g &1
ol 1 HIeT H AR FEiR v qe. 2 g9 | HieY
B IUYH Sl AR Hifo 2

An electric motor takes 5.0 A from 220 V line.
Determine the power of the motor and energy

consumed in 2 hour.

7. S99 TFIEOT Hl S9N $ U O YR & 'R’ & vy ®
dl efaed Gl B 2

FH W (Reduce), gq: =R (Recycle) AR g
SUGRT (Reuse)l JF: STGRT H g9 IR | &

4205/(Set : B) P.T.O.
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(6) 4205/(Set : B)

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reuse in

detail.

8. (a) B3 ¥ AW U9 & FhaT &= (C) W R B
ECIEEIE R+ B 2

An object is placed at. the centre of
curvature (C) of a concave mirror. Draw the
ray diagram to-depict the position, size and

nature of image formed.
(b) T G & BHE T FQ BT (D &
2.0 D %l T5 9 TR & @9 § 7 2

Find the focal length of a lens of power

—2.0 D. What type of lens in this ?

4205/(Set : B)

Previous Pathshala




(7) 4205/(Set : B)
9. TMilhe ARW TihY fhdl faEd o &1 g0 s
qT FEMAE e Him e gAM TR FE & 7 6

Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What is the function of brushes ?

HAYAT
OR

(a) URFATCIRT & - STIT FT ST & 7 Th GRAer
4 yaied gd N & BRI R 8 &
SRR - IRATCTHL & ST R St Je
ST 4

What is a solenoid ? Draw the magnetic
lines of force around the current carrying

solenoid. Write the use of solenoid.
(b) TR @ Sfer-ae faw @1 & ? aHeEE 2
What is the Fleming's Right-Hand Rule ?

Explain.

4205/(Set : B) P.T.O.
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(8) 4205/(Set : B)
gue - §
SECTION - B [ Marks : 19
(e )
(Chemistry)

10. =1 Tomte ofufer & dF-a1 aiers ov=ERd &

11.

wWe? 1

CuO + Hy — Cu+ H,0

Which reactant is reduced in the following

chemical reaction ?

CuO + Hj - Cu+ H,0

IS U 9 @ A, B w6 C ¥, Re pH &1 99
HIM: 3, 7 UG O | SUAGT H 4 HH-A1 foEd &g
BT ? 1

You have three solutions A, B and C, whose pH
value is 3, 7 and 9 respectively. Out of above

solutions, which solution is basic ?

4205/(Set : B)

Previous Pathshala




(9) 4205/(Set : B)

12. @ M, MCL, g el Th FINES S0 8l e drel

T g8 9 M H9ad: 69 @ % S g ? 1
(A) St (B) Al
(€) Na (D) Mg

Element M forms a Chloride with formula MCI, .
Element M would be most likely  in the same

group of periodic table as :
(A) S (B) Al
(C) Na (D) Mg
13. fafqegd sii¥fRe & o w1 wHed € 7 g@ S

(Tt EHieTeT) dfem 5

What do you mean by double displacement

reactions ? Give one example (chemical equation).

4205/(Set : B) P.T.O.

Previous Pathshala




(10) 4205/(Set : B)

14. oo o0 &1 TEEn g 7§ 7 gqe e i @
TEEh FHIBT i) 2

What is chemical formula of bleaching powder ?

Give chemical equation used in its preparation.

15. YN e RN & e H g § aff ok 9 W
oTfcas 7 fhd SR aRafid B & P &ROT i 2

In-modern periodic table; how does the metallic
character vary in a period on'moving from left to

right in a period ? Write its reason.

16. (i) eigell & StRl | SRRl BT | &1 8lm © 7
g% JETEl- Sl 2

What happens when metals react with

acids ? Give one example.
(i) afhgar Aol & Sarever afed auie @i 2

Explain the reactivity series with example.

4205/(Set : B)
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(1) 4205/(Set : B)

17. (i) =1 SR @1 BT HIvT 1x3=3
i
(@9 CH3;-C-OH
(b) CH3;-CH,-Cl
(0 CH3;-CH,-OH
Write the names of following compounds :
i
(@) CH3;-C-OH
(b) CH3;-CH,-Cl
(o CH3;-CH,-OH
(if). FHGE SO @@ ekilo® 7 SRR & A
HARTI 3
What is.homologous series ? Explain with
example.
AYAT
OR
YA B AHE kAT @ B @1 el #ifiy 6
Explain the mechanism of cleaning action of
soap.
4205/(Set : B) P.T.O.
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(12) 4205/(Set : B)
s -9
SECTION -C [ Marks : 21
(cftr o)

(Life Science)

18. f=fofad & | SH-91 daq ong Fiieolig gerel &

e © 7 1
(A) TR, @iies, afwl
(B) W<, HIH, el

(C) TegHIFgH &l fEear, WIREH, Hie H Sid
(D) uRwEl, =19, <iRes

Which of the following is a group of only non-

biodegradable substances ?

(A) Aluminium, Plastic, Leaves

(B) Plastic, Grass, Wood

(C) Aluminium Can, Plastic, Glass Bottle

(D) Leaves, Grass, Plastic

4205/(Set : B)

Previous Pathshala




19.

20.

21.

(13) 4205/(Set : B)
Frifoftaa & & free @ Ugt 1 ol g% S © ¢ 1
(A)  HEIERRT
(B) it
(C) Fotereis
(D) ufsafaes o

Wilting of leaves in plants is due to effect of

which of the following ?

(A) Cytokinin

(B)  Auxin

(C) ‘Gibberellin

(D) Abscissic Acid

S 1 B0 § FRIEE - HROT -1 Sl e
g7 1
Which synthetic chemical is responsible for
depletion of ozone layer ?

goeHa e Fed ©§ 7 1

What is Regeneration ?

4205/(Set : B) P.T.O.
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22.

23.

24.

25.

26.

(14) 4205/(Set : B)
AE 59 & & dequer & fu ofasg® § ? 1

Iodine is necessary for the synthesis of which

hormone ?

Mg § ST & ™ Y 8 7 2

What is the function of ovary in human beings ?

FIeh Yad= F B ? T O Jed © 7 2

What is vegetative propagation ? How is it useful ?

yfdedt a9 F1 & ° 399 Gadl e HILTH B T B
R 2

What is reflex arc ? What is the funection of

sensory neuron in reflex arc ?

Hed & fEH AgAR & Ol (T 9 & dS) &
(iR g 9 dis) @ @ dar B odRE e
EIIY 4

As per Mendel's Law, describe the independent
assortment of two separate traits (rounded and
green seeds) with (wrinkled and yellow seeds)

along with diagram.

4205/(Set : B)
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(15) 4205/(Set : B)

27. () URG ¥ AW W WERE e B9 9 &}
U§ el G & g 7 1+1+4

By which part of plant translocation of

food takes place ? Where is the food

translocated ?

(i) UG H HANM B A B gEew & e

4T
Explain the process of translocation of food
in plants.

HYAT

OR

() "9 H SfESH a Fiaq SReARES H GRaed
&Y Bl ¢ ¢ fengEes ey 442

How does transport of oxygen and carbon
dioxide takes place in human beings ?

Describe in detail.

4205/(Set : B) P.T.O.
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(16) 4205/(Set : B)

(i) a9 & foU oifedce o< & & fRen d st
Shiat Pt STUET TWAT ST B AR &

Why terrestrial organisms have advantage

over aquatic organisms with regard to

obtaining oxygen for respiration ?

4205/(Set : B)

Previous Pathshala
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(2) 4205/(Set : C)

° ZYF J9T FH FAY [0GT J@ BT H W, JoT B HHE
7T 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FUT-YRawr ® & § @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAGRTT FHF o de T A o
SFEATAR & [rd ST fi@r Fae 7 #e

Except answer-book, -no extra sheet will be given.
Write to the point and do not Strike-the written

answer.,

o ghEreff 1o T Fo HIT-GH UT GaST @)

Candidates must write their Roll Number on. the

question paper.

° ZYF 49 # F¥ &7 @ qd 9E GrvEad &Y o [ JeT-a
g7 7 @& & ghEr ® S 54 e § #HE A a@r
@B TE 14T A7

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : C)

Previous Pathshala




(3) 4205/(Set : C)
G & -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS 797 % el [Aweq ford)
Write the correct option in objective type
questions.

(iii) & FTT I g F SRS [AH T HTET 8

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 B 31F 3% A7 G909 T 81

Marks of each question are indicated against it.

s —
SECTION - A [ Marks : 20
(Hifcrs TarsTrT)

(Physics)

1. 799 A5 FF 9/ W) e a5g &1 g a9, a8

K 1
(A) i (B) gfeqed
(C) R (D)  geFe

4205/(Set : C) P.T.O.
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(4) 4205/(Set : C)

The human eye forms the image of an object at

its :
(A) Cornea (B) Retina
(C) Iris (D) Pupil

2. = 4 @ B9 W gENE H wais qen § o
St B 7 1
(A)  HES
(B)... IS STEETHIES

(C) EREH ThEs
(D) BEZI

Which of the following gas is found maximum in

biogas ?

(A) Methane

(B) Carbon dioxide

(C) Hydrogen sulphide
(D) Hydrogen

4205/(Set : C)
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(5) 4205/(Set : C)
3. I @ 59 afges & dRo ar feufenm ¥ ? 1

Which phenomenon of light is responsible for

twinkling of stars ?

4. foga <R @ g 3eEl @ A HaEd IS 9 @
T Y e freg & /SN S | 7 1

Why are coils of an electric toaster and electric
irons made of an alloy rather than a pure

metal ?

5. gl o9 Sl g E 2 98 oo @ity 2

What are the ‘disadvantages of fossil fuel ?

Explain in brief.

6. JE IUET f& MW 6 Q Uy & o Sfigsw & fFa
TR TAINTT e o U G &l Ufae 4 Q 8 2

Show how you would connect three resistors,
each of resistance 6 Q. So that the combination

has a resistance of 4 Q.

4205/(Set : C) P.T.O.
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(6) 4205/(Set : C)

7. 2 919 3 FEio @ guiie 9 w@ieel g9 H9
T & ? 2

How the constructions of large dams cause

social and environmental problems ?

8. (a) G @ &Har F A & ¢ R o9 @
g3 (1D) HHAT i GRENG i) 2

What is the power of a-lens ? Define one

Diopter (1D ) power of a lens.

(b) W aE ST OF B &I bikd F ql. FHH
%% (0)& A R 81 99 | g % Uil A
Regfer, dEST qT Sl Rl @R & S a9isy 2

An object is placed between the main focus
(F) and the optical centre (O) of a convex
lens. Draw a ray diagram showing the
position, size and nature of the image

formed.

4205/(Set : C)
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(7) 4205/(Set : C)
9. fIEd WX & IMifhd RW TifeW| FEhI g qen

HERE W HiomW fET Gl § Qe awg &R
e & 7 6

Draw labelled diagram of an electric motor.
Explain its principle and working. What is the
function of a split ring in an electric motor ?

S
OR

() FHWHA & F| SRWE & ¢ [T SuERTn &
T T A ST 5 7 2

What do you mean by ‘earthing ? Why

should ‘electrical appliances be earthed ?

(b) URFATSr & ST T A & ? T GRHATTH
4 gied e 4 % HRO S~ gEhid & Rl
MR HifoTal gRATeReT & STERT fRaa) 4

What is a solenoid ? Draw the magnetic
field around a current carrying solenoid.

Write down the use of a solenoid.
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(8) 4205/(Set : C)
s - §
SECTION - B [ Marks : 19
(v fam)
(Chemistry)

10. =1 vamfe s & f9-a1 ofeRe SwEid &

11.

wWe? 1

ZnO+ C — Zn+CO
Which reactant is. oxidized -in the following

chemical reaction ?

zn0+ C — Zn+CO
S O oiF e A, B @ C &, @ pH #1719
FAT: 2, 7 Q@ 11 8 IqUF H § HA-A1 I &
I ? 1
You have three solutions A, B and C whose pH

value is 2, 7 and 11 respectively. Out of above

solutions, which solution is neutral ?

4205/(Set : C)
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(9) 4205/(Set : C)

12. &4 M, MCl, ¥ acl Th FIES S0 8 IAEd
RO § ¥ T M G9ad: 69 9 & S e 7 1

(A) S (B) Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCl,.
Element M would be most likely in the same

group of periodic table as :
(A) Si (B) Al
(€) Na (D) Mg
13. GO ARGRIRT § S # §9Ed & ¢ g QA
(et |iEe) AR 2

What do you mean by combination reactions ?

Give one example (chemical equation).

14. 99 & TSl F TEENG G F1 & 7 gE e O
1 THED FHIBTT T 2

What is the chemical formula of washing soda ?

Give chemical equation used in its preparation.
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(10) 4205/(Set : C)
15. g JEd GR 7 9 § HW § A1 I W i

o7 fohd PR @ gREfid ir & 7 HRel faka) 2

In modern periodic table, how does metallic
character vary on moving down top to bottom in

a group ? Write its reasons.

16. () oGl & S & Gy ANEET HE W T Bl
g ? g% e i 2

What happens when metals react with

water ? Give one example.

(ii)  offe gmT F@1 8 7 59 UHH ol TS TEHHT
e 2

What' is thermit process ? Give chemical

equation of this process.

17. (i) = 9FERE @1 BT faRae 1x3=3

(a) CHs;—CH =CH,
(b) CHs;-CH, - Br

O
() CH;—-CH, - C-H

4205/(Set : C)
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(11) 4205/(Set : C)
Write the names of following compounds :
(@@ CH3;-CH =CH,
(b) CH3;-CH, - Br
o
() CH3z-CH, - H— H

(i) vy @ e | erfufem e s ekt B 7
TGS THIGLOT JoT 1x3=3

How ethanol reacts with the following ?
Give chemical - reactions.

(a) STRIGT QA STEFhiHe

Acidified potassium dichromate
(b) TH ®ix H,50,

Hot concentrated H,S50,
(c) HifsTH (Nay

Sodium (Na)

3TeE
OR

e AR B AT TSI B ORI ST i) 6

Explain in detail the nomenclature of Carbon
compounds.

4205/(Set : C) P.T.O.
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(12) 4205/(Set : C)
s -9
SECTION -C [ Marks : 21
(cftr o)

(Life Science)

18. @I & T U4 TNl bl JURYT H S qardl
q Frefh TEdl H FH A A Sl B wed § 1

(A)  STIHSIH

(B) SEH
(C)- ST
(D) HiEER

The organisms which -make organic compounds
from inorganic substances using energy of sun

and in the presence of chlorophyll are called :
(A) Decomposers

(B) Producers

(C) Herbivores

(D) Carnivores

4205/(Set : C)
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19.

20.

4205/(Set : C)

(13) 4205/(Set : C)

‘AR ST BF-8F fohar & ?

(A) URs®
(B) of®
(C) uferait

(D) ferrl T FfEs® Sl
'Salivation' is a type of process :
(A) Voluntary

(B). Inveluntary

(C) Reflex Action

(D) Reflex Action and Involuntary Both

1

T W UG # e A8, e Q)X Sell H e

i @re et § gRdaid & & 7

1

What percentage of solar energy captured by

green plants is converted into food energy in a

terrestrial ecosystem ?

Previous Pathshala
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21.

22.

23.

24.

(14) 4205/(Set : C)

fq Silq § Sgfa@Ued gR Th Siq Uh @ 3 Gl
Fifrm F e & o § 7 1

Which organism divides into many daughter

cells through multiple fission ?
qe SRR 6 & &R B 9% § Vb drl S A
1 AW 5 ? 1

Name the hormone responsible for limiting the

sugar level in blood in human beings.

AT B G99 o A 3 Iy fafae S deat 9
qefRal &Nt 8 UHEHH B & 2

Write those changes of puberty that are common

to girls and boys.

W7 foherr e @ e yeR R B 7 2

What is difference between pollination and

fertilization ?

4205/(Set : C)
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(15) 4205/(Set : C)
25. B35 H WY & Ui AIERAT B THARN 2

Explain the process of response to touch in

sensitive plant.

26. 3§ HT-4 P & OV W T G @O a9 A
Sl g gufte § 9% gahdl 8 ¢ 4

What are different ways in which individuals with

a particular trait may increase in population ?

27. QG § S H ge fhg 9T ZW A dare ? qE
1 I O R 5 M = ) R e o M= e =200 B e ) B o 1 LB

What part of plant-transports water ? Explain

the movement of water and minerals in plants.

SUCH
OR
(i) @R Sk SRR § A o= © 7 2
What is difference between lymph and
blood ?
4205/(Set : C) P.T.O.
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(16) 4205/(Set : C)

(i) AFg H Sifedo qur FE SEelieaEs & uRded
g MM & IaemEe Mee EN aR]
UREEROT Sl AR HifoTT) 4

Explain the process of double circulation
with the help of schematic representation of
oxygen and carbon dioxide transport in

human beings.
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(2) 4205/(Set : D)

° FYF J9T FH FAY [0GT J@ BT H e, JoT B HHE
7T 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FUT-YRawr ® & § @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAGRTT FHF o de T A o
SFEATAR & [rd ST fi@r Fae 7 #e

Except answer-book, -no extra sheet will be given.
Write to the point and do not Strike-the written

answer.,

o ghEreff 1o T Fo HIT-GH UT GaST @)

Candidates must write their Roll Number on. the

question paper.

° ZYF 49 # F¥ &7 @ qd 9E GrvEad &Y o [ JeT-a
g7 7 @& & ghEr ® S 54 e § #HE A a@r
@B TE 14T A7

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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(3) 4205/(Set : D)
G & -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS 797 % el [Aweq ford)
Write the correct option in objective type
questions.

(iii) & FTT I g F SRS [AH T HTET 8

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 B 31F 3% A7 G909 T 81

Marks of each question are indicated against it.

gug —
SECTION - A [ Marks : 20
(e forsTrT)
(Physics)
1. A0M ghied o fefad g & J=&F &R 8, T
& 1
(A)  TEEH
(B) STUddH
(C) foaa=
(D) aIo
4205/(Set : D) P.T.O.
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(4) 4205/(Set : D)

The main reason behind the advanced sunrise

and delayed sunsetis ................ of light.
(A) Reflection

(B) Refraction

(C) Deviation

(D) Scattering

2. fy=fafeg & § ®F SggET SO BT B IWET T8

g7 1
(A)... T

(B) e} 4

(C)  THeIE Fst

(D) I

Which of the following is not an example of bio-

mass energy source ?
(A) Wood

(B) Gobar gas

(C) Nuclear energy

(D) Coal

4205/(Set : D)

Previous Pathshala




(5) 4205/(Set : D)

3. [ Ui ad Sebist &l T bl 9l | fqwe &Y adl
Bl RER 3 act T # A § g 1

The prism split the incident white light into a
band of colours. Write these colours name in

Sequence.

4, TS AR H AR fF BRA W AR @ ? 1

On what factors, the resistance of a conductor

depends ?

5. Sl % of/Est i & & IO B © P 2

What are. the properties of a good source of

energy ?

6. 20Q,3QTM6Q & =R H [hd THR AT
fopar S 6 GO B g JeRg 1Q B S 7 2

How can three resistors of resistances 2 Q, 3 Q
and 6 Q be connected to give a total resistance

of1Q7?
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(6) 4205/(Set : D)

7. O TR H SEW @ AN R F R @ v §

o FEe G A 2

M IR (Reduce), T T (Recycle) AR T:
SYANT (Reuse)l HH IWN & &R & o B

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reduce in

detail.

8. (a) I3 I& HAW U % FohAl bE-(C) T BihE F
% " fRod B OF a%g % St a1 R, e
qT Tpicr b1 e SR 2
An object is situated between the centre of
curvature (C) and focus (F) of a concave
mirror. Draw a ray diagram of the position,

size and nature of image.

4205/(Set : D)
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(7) 4205/(Set : D)
(b) I @ H BHA U FA BT (STD &
—2.0D? 7€ 59 YBR & A & ? 2

Find the focal length of a lens of power

—2.0 D. What type of lens is this ?

9. Tl ARG Tiel FI (el fagd SE & qol s
a0 FERY T g dcﬁ@ﬁﬂﬁao%qﬁﬁ
o g 7 6
Explain the underlying principle and working of
an- electric generator by drawing a labelled

diagram. What are the advantages of ac over

dc ?
ST
OR
() gHEWHA (Barthing) § 1 sfmE 8 ¢ fagd
SUHION Bl EUlhT FT a1 ST & 7 2

What do you mean by earthing ? Why
should the electrical appliances be

earthed ?
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(8) 4205/(Set : D)

(b) URATTR & AU F1 AIE & ? UH GRAAH
4 yied fOEd 4 % HROT S guhid & Rl
ARG Hifory aRTferRr & Iwa off fofem 4

What do you mean by a solenoid ? Draw the
magnetic field lines around a current
carrying solenoid. Write down the use of a

solenoid.
gue - §
SECTION - B [ Marks : 19
(e o)
(Chemistry)

10. =1 wamEe siffh H HF-a1 AReRE Ed &
wWe? 1

ZnO+ C = Zn + CO

Which reactant is reduced in the following

chemical reaction ?

ZnO+ C - Zn+CO

4205/(Set : D)
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(9) 4205/(Set : D)

11. 3% 9 A9 @aT A, B @1 C ¥, Rer pH &1 7W
FAT: 3, 7 W 9 B I H @ P-4 e =g
B 7 1
You have three solutions A, B and C, whose pH

value is 3, 7 and 9 respectively. Out of above

solutions, which solution is acidic ?

12. @ M, MCl; g A UF S S0 o1 e ael
W g dcd M e e wHe & e Br ? 1
(A) S (B) Al
(C) Na (D) Mg
Element M forms a chloride with formula MCl;.

Element M would be most likely in the same

group of periodic table as :

(A) Si (B) Al
(C) Na (D) Mg
4205/(Set : D) P.T.O.
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13.

14,

15.

16.

(10) 4205/(Set : D)
fie (oTqaes) sif¥fpanstt & ofT #1 @& & ¢ 0%
SR (TS THIBTeT) AR 2
What do you mean by decomposition reactions ?

Give one example (chemical equation).

FAR-ER AT &1 Bl & 7 39 Uk &l TEEs
g STy 2

What is Chlor-alkali process ? Give chemical

reaction for the process.

YT ST el o -ofad H S | &R S W
WHIY] A3 68 SR GRafid sl & ¢ &R fafew) 2

In modern periodic table, how does the atomic
size vary in.a period on moving from left to

right ? Write its reason.

(i) gemsiicT o1g STiFdEs & o H i § @ s
g ? g% e AR 2
What happens when water soluble metal

oxides are dissolved in water ? Give one

example.
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(11) 4205/(Set : D)
(i) oTaN® AR F TOHIE S H BT 8 7 2

Why do ionic compounds have high melting

point ?

17. () =1 AR @1 T Fiv ¢ 1x3=3
(a) CHy-C=CH
(b) CH;-OH

0]
]
() CHjz-C—CH,

Write the names of following compounds :
()~ CH3=C=CH
(b): "CH; —OH

O
]
(c) CHs;-C—CH,

(ii) YA (CsHyp) & Ol €XaHe doEdal & e

it 3
Draw all the structural isomers of pentane
(CsHyp) -

4205/(Set : D) P.T.O.
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(12) 4205/(Set : D)

ST

OR
frer ufharelt @& wEmte fie GfRa aoiH
FIfoTT 2x3=6

Explain the following processes with help of
chemical reactions :

() el
Esterification
(i) @R
Saponification
(iii)  BTEZIOHIHIT
Hydrogenation
g -4
SECTION - C [ Marks : 21
(cfta fo)

(Life Science)

18. I g o SAfed Hrah Yarel B G ST Yaren o

o Y e fem 39§ 1
(A) IUED (B) STUHIH
(C) SR (D) wiERN

4205/(Set : D)
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(13) 4205/(Set : D)

The organisms which break down complex
organic substances into simple inorganic

substances and mix them in the soil :
(A) Producers (B) Decomposers

(C) Herbivores (D) Carnivores

19. @ FREH B HE-A AR FHEES G I B

SIS 3l & 7 1
(A) IR B

(B) sFE

(C) irenTer

(D)  difeepr @l Sifem famr
Which part of neuron acquires information from

sensory organs.?

(A) Cell body
(B) Dendrite
(C) Axon

(D) Nerve ending
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20.

21.

22.

23.

24.

(14) 4205/(Set : D)

fhel ot uildsr & o & Yare deg fhaen fRsmer #
AT ? 1

In how many directions the energy flows in any

ecosystem ?

Teh ® st W I STFT JAT oA H A9 Aews
& TIOT | 39D U BN-T1 S STt ® ? 1

Growth of facial hair and deepening of voice are
symptoms of puberty in boys. Which hormone is

responsible for it ?

qu & St & - A1 BRI IR Ao SR |
JAST HYC & P SlHET & IH AT P AH SR 1

In a flower, pollen tube enters through pistil into
ovule. Name that part of pistil.

fegusa qul dgarsd H H S & 7 @R died
BEEIEY 2

What is difference between binary fission and

multiple fission ? Explain with example.
fafr miftRes giemar #F-8 € 7 o9 @R § g
N qEd © 7 2

What are different contraceptive methods ? How

are they important for reproductive health ?

4205/(Set : D)

Previous Pathshala




(15) 4205/(Set : D)
25, AR T A& H W B © ¢ 2

How are brain and spinal cord protected in

human body ?
26. TF A0 G a GG (BB) & HHCT 6 The Gl A
9y (bb) & HEME 4

A blue coloured flowering plant (BB) was crossed

with white coloured flowering plant (bb).
(i) oo Gafr & Gl & T B 7

What will be-.the colour-of flowers in F,

generation ?
(i) O Hafd H @O BN AW HBE Gl
gfereTel fehe BT 7

What percentage of white flowered plants
will be in F, generation  through  self-

pollination of F; plants.
|l e FHifs|

Explain with diagram.

27. WU QU F1 & ? A F GHT GRATT H THH dl
AT FifoTg| 6

What is autotrophic nutrition ? Explain the

process of photosynthesis in plants.
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(16) 4205/(Set : D)

Terr

OR
fouHat qrer @ B 7 ordier § 9Nl & =Rl @ gt
Ui I 6

What is heterotrophic nutrition ? Explain the

process of nutrition in Amoeba with diagram.
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